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Number: 2197 INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I MIW-&/-2.1 TIME ALLOWED: 30 Minutes
GROUP-I OBJECTIVE MAXIMUM MARKS: 20

Note: You have four chgices for each objective type question as A, B, C and D. The choice which you
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think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker
or pen to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that
question. No credjt will be awarded in case BUBBLES are not filled. Do not solve question on
this sheet of OBJECTIVE PAPER.

The product of ropts of the equation 3x2+5x=0
=3 5

(A) y (B) 3 © 5 (D) 0

An equation which is true for all values of unknown is called:

(A) Identity ' (B) Algebric equation (C) Algebric relation (D) Conditional equation

2
The AMbetween 1 —x+x2 and1+x+x%iss  (A)x+1 (B) x* +1 (C)xgl (D)x;l
G.M between 2 and 8 is/are: (A) S (B) 8 (C) £4 (D) 16
The sum of an infinite geometric series with || < 1, where first term is @ and r is common ratio:
a a a a

A B) —— C) — D

()1+r ()l—rz ()lvr ()1+r2
If "P, =30, then n= (A) 6 (B) 4 w) 5 (D) 8

General term in the expansion of (a + x)" is:

(A)(H]a"_rr" (B)[n]a’x” (C)[n)a"x”_’ (D)(n]a"x”
r r K I

S—f- radian = (A)360°, " (B) 225°  (C)335° (D) 270°
(cos20)? + (sinP@)? = (A)u0 (B) 2 (C) 4 ®) 1
sin(180° + @) = (A) —cosa (B) sina (C) cosa (D) =sina
Period of tan% is: | (A) 7 (B)% (0}% (D) 37
In any triangle 4BC , with usual notation, r, =

A : A A A
(A) (B) ©) @) —
s-a _ s-b _ s-c 8
Circum radius K =
A A abc A
— B) — ) =— D
*) abe , ()S ()4A ()s——a
o 1 1 1 w T
— |i= A) — B) - o @-=
cos[smﬁ} W ®;  ©f O
If sinx = —?— and x €[0,27] then x =
St 4rn T 3m T 2r T Sz
e L L (L1 0 =, =— Dy =, —

(A) A (]3)4.4 ()33 ()66
If A and B are non empty disjoint sets then:

(A) ANB=4 (B) ANB =B (C) ANB=¢ (D) ANB# ¢
If z=-2+3i,then Z =

(A)-2-3i B)2-3i (C) -2+ 3i (D) 2 +3i

If A=[a ttﬂ,tli.en“cxdj,q:

c d|
-a -b d -b a -b -a -b
C D
® | , w7 CI ;) o[ ]
' 1

If |4]=5 then |4'|= @ 3 (B) 0 gC) =5 (D) 5
Sum of all the four fourth roots of unity is: (A0 B) 1 © -1 (D) 4
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2021 (A) Roll No:
INTERMEDIATE PART-I (11" CLASS)

MATHEMATICS PAPER-I M WN-&Qi-2| TIME ALLOWED: 2.30 Hours
GROUP-I SUBJECTIVE MAXIMUM MARKS: 80

NOTE: Write same qyestion number and its part number on answer book,
as given in the question paper.
SECTION-I
2 Attempt any eight parts. 8x2=16

(1) Find the mociulus of the complex number 1- i3

(i)  Simplify (2,6) +(3,7)

(1if)  Name the prdpeﬂy used in the following equation a(b - ¢) = ab — ac
(iv)  Write two proper subsets of the set {a, b, ¢ }

(v) Construct the truth table of the following statement ( p A ~ P)—q

(vi) Find the solution of the linear equation xa = &, where a and b belong to group G.

2 0 4 -2
(vii) Find x and y if[l x}z[l - y}[ 3}

y 3 0 2 -1 1 6 1
1 & L
bc
(viii) Without expansion verify |1 52 2. =)
; ca
1 ¢? 2
ab

(ix)  Solve the equation by using the quadratic fornfilla 16x2+ 8x +1=0

(x)  Evaluate (1+ - 0?)(1- o+ 0?)

(xi)  Find the invetse of matrix [ _z :S;J

(xii) If @, B are roots of the'equation x*> — px — p — ¢ = 0 then prove that (1+ a) (1+ ) =1-¢
3. Attempt anyfeight parts. 8x2=16

: 1
i Resolve ;
) & A2 - 1)

into partial fractions without finding the constants.

! 4x2
(x*+41)? (x~1)
iy 1If a,_5= 242 — 5 find the nth term of the sequence.

(ii)  Resolve into partial fractions without finding constants.

(iv)  Find A.M. beﬁween x—-3and x+5

W) If5is harmoniic mean between 2 and b, Find b.
(vi)  Find the 12" term of the harmonic sequence y, %/, y, —————
(vii) Find the valugof n if "p,: " 'p; =9:1

(viii) How many ne%:k]aces can be made by 6 beads of different colours?

(ix) How many di#gonals can be made by 8 sided figure?

(x) Verifythestaﬁcment 2+6+18+-——-4+2x3""1=3"_1 forn=12

|
(xi)  Expand (4 —;33:)/2 upto 3 terms.

: IL=2% 3
(xii) If x be so small that its square and higher powers be neglected, prove that Jl— B vz»x
+ x

PTO



(2)
4. Attempt any nine parts. M T“ - q le Z 9x2=18
1

@) Find », when £=5cm, @ = Eradian.

(i)  Write any two fundamental identities of tx’igondr‘neftry.

1-—tan2“'y3
1+tan2%

(iv) If a, B, y are angles of triangle ABC then prove that cos(a + f) = —cosy

(iii)  Evaluate

(v)  Provethat tan(45°+ A)tan(45° - 4) =1

(vi)  Prove that A By 4 sin e = tan Sx

cos8x + cos2x
(vii)  Find the period of sin%

(viii) A kite is flying at a height of 67.2m is attached to a fully stretched string inclined
at an angle of 55° to the horizontal. Find the length of string.

(ix)  Find the area of triangle ABC, when b= 37, ¢ =45, a =30°50"
(x)  Provethat rryrr = A
x

1 = 3:2

(xii)  Solve the equation sinx = -;—, where x g[027]

(xi)  Show that tan(sin™ )=

(xiii) Find solution of the equation sec x,= =2 Which lies in the interval [0, 27]

SECTION-IT

NOTE: Attempt any three questions. 3x10=30
-1 2
5(a) If A=| 1 4 |_and B=[ 5 ﬂ then verify (AB)" = B'A4"

2 -1

(b) If '»'isarootof ®° + x + 1 = 0 show that its other root is @* and prove that @’ = 1

7 +1 ; ;
6.(a) Resolve into partial fractions.
X+ 1
. " . 12
(b) Find four Arithmetic Means (A.Ms) between V2 and —J_E

7.(a) Find the valuesof » and r, when "C, =35 and "P, =210

10
(b)  Find the coefficient of x°in the expansion of [xz - 21]
X

8.(a) Provethat sin®@ — cos® @ = (sin? 8 - cos® @) (1 —sin* @ cos’ )
2sinf sin(20)
cosé + cos(36)

(b) Prove that tan(26) tané

9(a) Thesidesofatriangleare x>+ x +1, 2x+1 and x*-1.
Prove that the greatest angle of the triangle is 120°.

(b) Prove that tan” 2, + tan™ 2 =tan™’ : + tan™ L1
11 6 3 )
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